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BACHELOR OF EDUCATION (B.Ed.) 
Term-End Examination 

June, 2018 Cr?Fi 

BESE-132 : GUIDANCE AND COUNSELLING 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry 
equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss the need and purpose of guidance in 
schools. 

OR 
Explain the meaning and process of group 
counselling. 

2. Answer the following question in about 
600 words : 

Explain the concept of career patterns. Discuss 
the relationship of career patterns with life 
stages. 

OR 
Describe the factors influencing the work 
participation of women and discuss the 
self-efficacy theory of career development of 
women. 
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3. Answer any four of the following questions in 

about 150 words each : 

(a) How can a guidance counsellor help students 

with disability and their families ? 

(b) What are the sources of stress for students ? 

(c) Explain sociometry as a technique of 

guidance. 

(d) What are the 'advantages of group guidance 

in schools ? 

(e) Describe the techniques of behaviour 

management of students. 

(f) What are the steps involved in organising 

guidance activities in schools ? 

4. Answer the following question in about 

600 words : 

Explain the concept of transactional analysis 

(TA). Identify any one of your dominant ego 

state behaviours and illustrate how that 

behaviour affects your life as well as others 

around you. 
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